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e
[ can mentally add 2 1-digit numbers together.

Ikn.owtha.tlnmdto'exchangegcthzcoiumtsmorgmbah
/un.dzrs@mddwtwfmiadd.latwuyssta,rtwtththzoms.

Is M odd ? -
e ] : Complete the factors of 15
Whatis18 + 22 [ SREY. =N N |

Whatis 7 X 32 [}

There are 5 pencils in a pot. -

How many pencils in 3 pots?

@ Eﬁ @ Work out fifty-four divided by six .

9 kilometres =_-_ metres

Y)  How many tens are there in 24? -




Place Value Grid

Hundreds

Tens

Ones

Go*er—dxgtt a.dd.mg here,
thmgrmzp, A start.
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There are 2,775 vehicles in the car park.

1129 cars, 695 motorbikes and the rest are
vans. How many vans are in the car park ?

Use a bar model to represent the problem.




Brooke is talking about adding 100

When you add 100 to a number
it only changes the hundreds
column.

For example 2,570 + 100 = 2,670




Jemima has £352

Henry has £1,000 more than Jemima.




‘he total of 4,844 and 2,156

h H T o] ' 4 ' 8la [ 4
@QO000 00000000 1
0000 ‘+ 211|156
@ | © 0000 000 I I S B
© 000

<, > or = to make the statements correct.
3456+789 () 1810+2436
2829+1901 () 2312+2418

= 3,450 + 1,650

4. |

Complete the missing digits.

r==1 r==1

431 49
ST —————
+ 1 4 2 !
5! 19 9
5.
Amir is talking ahout adding 100.

When you add 100 to a number
it only changes the hundreds
column,

For example. 4270 + 100 = 4,370

Give an example to show that Amiris not correct.



~e 6,128 people in a village.
‘e women, 2,8l are men and the rest
Iren.

e the bar model to represent this.

1y children are there?

re 12,560 people in the hotel.
lults, 6695 children and the rest are
low many staff are at the hotel ?

ar model to represent the problem.

Jack has £256 Q@
Eva has £1000 more than Jack. =] [ &=

Haw*mu.chnwmyda' have
Uszahagmmw'hzliwywt&ywm out.

9,

Jack says,

@ When | add two numbers
together | will only ever
make up to one exchange
in each column.

Do you agree?
Explain your reasoning.



True Or Fal sl@ 2 e

Tommy is using a place value grid to

explore 2,636 + |,H424

H T 0
0000000 (0000
ee 00
Q000|000 0000

The calculation will require more than ;
h -
one exchange.
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LO: To sublract using the written column method.

[ can mentally subtroct 2 1-digit numbers together.
lkrwvrthatexchwgesnmdtabzmdzddwriy in the written method.
| understand that when | subtract, the greater number is at the top of the
written calculation.

Flashoalk Y

)] Divide 20 by S m
vee e Whrite all the factors of 8

2 Whatis20+102 [ .o (| .
Work out 8 X |l

3)  How much money altogether?

@@ @@@@ I What is ten multiplied by 8? .
HHDDD@

4)  How many tens are there in 877 [N 3,000m = N km




Place Value Grid

White

Calculation

Hundreds

Tens

Ones

o |Oon R
N [y

Do more exo.nHons g‘ needed, no
zxchange.

o0o000

000

&

> <
I




Place Value Grid Calculation
Hundreds Tens Ones

N — O

Go over 2 —digit subtraction
here, th,o.ngroup A start. Doas
many e,xa,mf)lzs as needed
with e,xclw,nge.

°e

&
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Dora and Mo are collecting book tokens.
~ Dora has collected 2,454 tokens.
Mo has collected 738 tokens fewer than Dora.
~ Represent this scenario on a bar model.
What can you find out?




A shop has 7,365 magazines.
384 are sold in the morning and 744 are sold in the afternoon.

How many magazines are left?

7,365
384 744 ?

There are magazines left.

You are going to need to draw bar models today in your work!



: <
a)5783-844 =

b) 6737 — 759 = hDS
c) 1205-398 = -262
d) 2037 — 889 =

e) 2037 — 1589 = 2

4,

Dora and Mo are collecting book tokens.
Dora has collected 1452 tokens.
Mo has collected 621 tokens fewer than Dora.

Complete the missing number to make this statement true.

568 + = 1,01 0 Represent this scenario on a bar model.
What can you find out?




D

A shop has 8435 magazines.

367 are sold in the morning and 579 are sold in the afternoon.

How many magazines are left?

8435
367 579 ¥
There are __ magazines left.
6-
A supermarket has 1284 loaves of bread at
the start of the day.

During the day, 857 loaves are soldand a
further589 loaves are delivered.

How many loaves of bread are there at the
end of the day?

7.

Johnis having a garden party.

He will need to make 4,250 sandwichesin
total.

He makes 1,500 tuna, 750 cheese, 1,350 ham
and 920 egg.

He decides to make the rest cucumber.

How many cucumber sandwiches willthere
be?

8.

On Monday, Tony cycles 1,340 metres.
On Tuesday, he cycles 2 kilometres.

Give your answer in metres.



9. Amir and Tommy solve a problem.

When | subtract 546
from 3,232 my answer
is 2,714 Afnis

When | subtract 546
o9 from 3,232 my answer

is 2,686

\

Tommy

Who is correct?

Explain your reasoning.
Why is one of the answers wrong? Use a model of proofl ... The

column method, it will help when
you explain in a sentence.




True O0r FalsE 2 e e

Tommy is using a place value grid to

explore 4,21l — 1,288

Th H
e000|00 © 1)

I will need to do 2 exchanges to find
the answer.




Haa e

LO: To estimate answers.

| can make sensible estimates.

| knowhow- to- use my rounding skills when [ estimate.
— || understand when estimating would be used in real life.

Week2 Day2

What is 25 multiplied by 6? [l
Multiply 2 by 7 .

What is 12 divided by 2? .
How much money altogether?

] Work out 6 X 100 [l

Find the sum of 22 and 35 - Add together 800 and 120 -




What does it mean to 'estimate’'?

When would we use estimates in real
life?



Let's recap rounding very quickly. You
will use this to estimate today.

1) Round 365 to the nearest 100
2) Round 8,392 to the nearest 100

3) Round 8,392 to the nearest 1,000
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Whitney has £437
Her uncle gives her £266
How much does Whitney have now?

£437 rounded to the nearest 100 is
£266 rounded to the nearest 100 is

The estimated answer is:
£400 + £300 =




An estimated calculation is 800 + 300 = 1,100
What additions could this be the estimate for?

A possible addition is:
+ =




Dexter runs 3,015 m Have a think m

Alex runs 1,657 m less.
How far does Alex run? -@?

3,015 rounded to the nearest 1,000 is
1,657 rounded to the nearest 1,000 is

The estimated answer is:

Dexter | 3,015 |
1,657
| .

Alex | ?




Name Points

Eva 3,568
Mo 3,951
p.r | will round to the nearest 1,000 to
@ estimate our total points.
| will round to the nearest 100 to o

estimate our total points.

Whose estimate is more accurate?



2.

Alex is working out 8,967 - 6,205

Alex rounds her numbers to the nearest thousand to estimate the
answer.

a) Complete the sentences.

8,967 rounded to the nearest thousand is :I
6,205 rounded to the nearest thousand is :I

Alex's estimate is |

b) Now work out the actual answer using the
column subtraction method.

Match the calculations with a good estimate.
| 345+1234 | | 3000+6000 |

[ 2985+6325 | [ 3500+1200 |

| 3s41+1179 | | 350+1200 |

| 2135+6292 | | 2000+6000 |

Mr Howell writes a subtraction on the board.

I estimate the answer will

be close to 200 because
700 - 500 = 200

What mistake has Dora made?
Write a better estimate.

a) Tom is estimating an addition calculation.
His estimate is 3,000 + 1,000 = 4,000

Write three possible additions Tom could be estimating.

b) Dani is estimating a subtraction calculation.
Her estimate is £600 - £100 = £500

Write three possible subtractions Dani could be estimating.



Whitney and Dexter are estimating the answer to 2,706 - 1,394
Whitney’s estimate is 3,000 - 1,000 = 2,000

Dexter’s estimate is 2,700 - 1,400 = 1,300

Whose estimate is more accurate?

Why?

A forest has 2,638 trees.
1,172 more trees are planted.

a) Use rounding to estimate the number of trees in the forest now.

8.

b) Work out the actual number of trees in the forest.

¢) How accurate was your estimate?

The estimated answer to a calculation is
3,400

The numbers in the calculation were
rounded to the nearest 100 to find an
estimate.

What could the numbers be in the
original calculation?

Use the number cards and + or — to

make three calculations with an

estimated answer of 2,500

1295

1120

4,002

1489

3812

1449




Extension

Game

@9

The aim of the game is to get a number
as close to 5000 as possible.

Each child rolls a 1-6 die and chooses
where to put the number on their grid.

Once they have each filled their grid,
they add up their totals to see who is the
closest.

Th H T O
7?0 ?]?

+ | ? |7 ?T?




frue Oor  False °?

Tommy buys 3 items of shopping

899 fH99 aond €499

{ I will have change from £30 W




[3.0 1.2

LO: To solve addition and subtraction problems in contexts
Icandzadzwhwhopuatwntsnmdedtawvﬂcouttfmpm‘b&m.

| know- what the guestion is a,slci.ng me to do.
| understand which method touseforwchpmblmn.

F 1 ashbal@ k. YL vewaweeka o3

Caleulate 80 10 [l S0 D Workout26 x5 Ml

Multiply 5 by 6 .
2) Find the product of 12 and 10 -

How much money altogether?

3) Findi3x 10 N

) Fikid Phsn of 26:a0d T 4) What is 8,000 + 1202 [




I bought Lego for 55p and another for 43p.
How much did it come to?

Today it will be
helpful to visualise
the problem with a

bar model.

Now we have placed the information we know on
the bar model.

What operation will we need to work out this
problem?



Amir buys a can of cola which contains
270ml. Ron b,uys a hottle of cola. which
contains 600ml. How much more cola is there

in the bottle than the can?
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. In one month, 982 adults and 695 children sl:a,yed in a hotel. Hawmany F;wple sta,‘(jad.ai
thehotaf.a.l.together?

] SWMS@M#MWMWMSS(?OM. Enunabuysabottte.ofcoiawﬂdzconiains
500ml. How much more cola is there in the hottle than the can?

. What is the sum of 469 and 9347

1 Acarpafkh.a.srumnforﬁSm, ?SQstmpwﬁd,mHmmrpwk.hﬂwnwvyspumsm

left?

BRONZE

SILVER

Daniel had some strmgforh.ﬂs conker that was 4168cm L(mg His Dad cuts off 289%cm. off.
How much # the strm,g is L#t?

. Cilla. wants torbuy a new- car for £64:5]1. She has £4:883 in hzrsa.vfngs account. How much

more money does she need to- save?

. Jack went on Iwbday HLsﬂlgh,t cost £120, the hotel £295 and spzndLng money £427. How

much did Jack 5P1md.(mhj,5 hab‘da,y?

- Daniel planned f;crcydz 3642 miles in one week. On the first d.a.‘(j( he cydzd. 2748 miles. How

much further did he have to'ga'?




GOLD
1. An,d,y Lsrv.adﬂtgabovk. which has %hSpa,gq,s. HemadTBSSPagumtfwanmngand,
3625 mﬂwaftzm.ovn. Howrmm.y more pages has hﬁ.lgﬁﬁarwd.?

2. Aman bnught a pa.dc of 2150 mvzl,opzs. Afterusmg 857 cmdgi.vm.g awoy 285, h,owmxmg
did he have left?

3. A trucksuit top. costs £12.75 and mm&dung tracksuit hottoms cost £9.50, how- much does the
trocksuit cost altagetfwr?

Platinum

1. In a week John saves £362, on Monday he has ZTSZF, on We,d:wsda.y £175. How much does
he save the rest of the week?

2. At a recent dza,n—up, of the heach, 103 children collected 5295 pleces of rubbish. Louis collects
934 pleces, Oliver 2626 sa'h,a'vv-rrmy has Charlie collected?

3. Maggi,e, can stay underwater for- 415 seconds, Sh,a.yfor"721r seconds and Jacoh for 156
second.s. Hrrw*long is that in total?
Canyouworkou,th,oWLong this would be in minute?




What words in your prohlem,s tell you to:

+ —
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LO: To- use checking strateqies.

fmusetfw.mmeopm—atwna.sawaqqfdmkmq.

subtraction.

!krwwhnwtvuseth.eooﬂunnmttﬁmmzthodfora.d.dtﬂonmd

| understand what the term inverse means.

Fla@sthbalek 4
D Whatisto+102 [
2 owdetobys [

3)  How much money dltogether?

Year2 Week2 Day5

4)  Find the difference between 100 and 65 [l

1)

2)

3)

4)

d F lash ch kY Year4 Week2 Day4

Find16 X5 [
What is8 X 5 X 22 [}
10 lots of 8 is equal to? -

What is 800 subtract 1207 [l




/f you were addi,n,g or subtra,cti,ng two
numbers, how- could you check that
Your answer was correct?

What does [ mean?



Which additions can be used to check
364 - 202 = 5667

364 + 202

162 + 202

364 + 162

202 + 364






623 + 1,240 = 1,863

How would I check th

at th

IS C&

culs
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s [ ]




— Work out the answer and then use the inverse as a
chzc/c'mg strabegy

.
A




Bronze

Write all 4 number

sentences for' each

1) 2,300 + 4,560 = 6,860
2) 3,562 - 2,747= 815

3) 1,319 + 4 8L = 5,308
L) 2,615 +1,387 = 4,002

5) 7,970 - 3,450 = 4,520

Answer these g uestions ant

as a checkmg strategg. Drt
fOT each gues ti

Silver

1) 4,003 - 637 =
2) 1,328 + 5,985 =
3) 3,100 - 2,483 =

L) 6017 - 386L =

5) 136k + 7483 =















